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10 #®% F1E 2016412H4H
7 2P VS 1 I EREERA
H= A=
S eI eI e
T 7% AR 1t B 7 e
= BER 7 = BER =
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 3S -1 -50 1t 2S +1 140 5
2 it [ri] 3NT +2 -460 x 2D +2 -130 8
3 panyiic] 1t 5Hx -2 -300 [ri] 4S +1 -650 8
4 PWE=] 1t 4H +1 650 x 4Sx -2 500 4
5 gt & | 2H | +1 | 140 | & | 11 | = | 80
6 panyiie] [ri] 3NT +1 -630 [ri] 3NT = -600 1
7 PWE=] [£3] 2HXx -3 -800 [ri] 3H = -140 12
8 TS [ri] 4H +2 -480 [ri] 4H +2 -480
9 panyiie] x 3D +3 -170 x 3D +3 -170
10 | \WHB [ri] 5D +2 -640 x 3NT +2 -660 1
DATUMSit T
E5:2PA I 8kE5RA Y. 3+ 15 | 26
FEEMMER -17 PR R/ BB -6 ait 15 | 26
PREmiE/ 72 6 B AR/ M 17 V.P. 6.28 | 13.72
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%10 % 2R 2016412H4H
6 I EKEIPA VS 2 R
H= A=
[ R R [
1t X B 1 = P,
FA : ZFEE 78 : FRElHE R N5 79 : F7/\B5
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 2Cx -2 300 x INT = -90 9
2 it x 3D +2 -150 [ri] 3NT +4 -520 9
3 panyiie] 1t 5Hx -2 -300 1t 5Hx = 650 14
4 PE=] 1t 4H -1 -100 1t 4H = 620 12
5 it [£3] 2H +1 140 1t 2NT -1 -100 6
6 panyiic] x 3NT = -600 [ri] 3NT = -600
7 |l /| | aNT| 2| 200 & | 20 | = | 110 7
8 TS [ri] 4H +2 -480 [ri] 4H +2 -480
9 ,?ﬁ x 3D +1 -130 x 3D +2 -150 1
10 | \WHB x 5D = -600 x 3NT +3 -690 3
DATUMSit T
I $RE€IPA LR Y. X+ 35 | 26
UGV ELES 3 PNIE/MNRE O ait 35 | 26
Z0&/7v/\e8 O X3S /6l 1 -3 V.P. 13.14 | 6.86
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5 I MERT VS 3 Sleepless
= A=
TR T Sleepless Sleepless T MERIT
it - DER IR AR N | =178 IR N
B BUKfE 7 : BARE B BHIE 7o RER
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wmxl £ | 2s | = | 120 % | anT | = | 90 | s
2 |kl 8 | 314 | = | 1a0] %= | aD | +1 | 150 | 7
3 || 4t | 4Hx | 1 | -1200| & | 4s | +1 | -650 | 11
a |wal 4t | 4H | = | 620 | 4t | a1 | -2 | ;200 | 12
5 |gat] @ | 2s | 2| 50 | & | onT | -2 | c200 ] 4
6 |wm| /| | aNT | +3 | -as0| & | aNT | -1 | 100 7
7 |wal|l ®m | 21 | +2 | -2490| & | 2px | +1 | 380 11
8 |wx| @ | aH | +2 | 480 ]| & | aH | +2 | -480
o |xwm| & | 3H | 2| 50| = | 3D | +3 | 270 | 3
10 |wWwa| & | aNT | +3 | 690 | % | 3NT | +3 | -690
DATUM% it I E
BRI Sleepless V. ] 42 | 18
TER/BKIE 25 IF3 /BRI -3 ait 42 | 18
WINEIRER 3 R X/ BERE -25 V.P. 16.78 | 3.22
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H10k  Fa4RE 2016412 H4H
12 ETFBA VS 4 sysujnuscut
H= A=

a&TBA sysujnuscut sysujnuscut a&TBA

3t : BBfthzh R BRIR it : BRE 7R ZFE5R

. BANE 79 : JEth /B FER 7Y : SKiER
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 | Wkl it 2S = | 120 %X | ANT | +1 | -120 | 6
2 |Eitl ® 3D | +2 | 150 | & 3D | +2 | -150
3 |&FHA| db | 4sx | +1 | 690 | 4S | +1 | -650 | 16
4 |wal it 4H = | 620 | 7 3D = | 1120 | 11
5 |&dt] 4t | 2NT | -2 | -100 | 4t 2D | +1 | 110 5
6 panyiie] 1t 3HXx -2 -300 7a 2NT +2 -180
7 |wal ® 2S | +1 | -140 | 4t 3D | -1 | -100 1
8 |WE| 7 AH | +2 | -480 | 4H | +2 | -480
9O |FAE| & 3H 2 | -100 | & 3D | +2 | -150 | 2
10 | B 7 6D = |-1370| & | 6NT | +1 |-1470] 3

DATUM&iit g
BETFBA sysujnuscut Y. o2 38 9

BMeE/BAE 10 HERE/EBER  -26 ait 38 0
FEBFAREIE 26 B LR/ fEMR -10 V.P. 17.67 | 2.33




2016 SRIEINE

%10 %% ¥ 5 R 2016412H4H
9 KIELTRA VS 8 HLLKZE
H= A=
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Tt oae 7 A I TEN % - o
& ER 76 - BREOR e 7 EEE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 2S -1 -50 1t 2S = 110 4
2 it x 3NT +1 -430 x 2D +3 -150 7
3 panyiic] 1t 5Hx -2 -300 x 5C -1 100 9
4 PWE=] 1t 4H = 620 1t 5H -2 -200 13
5 |zl &t | 2o | +1 | 110 &m | 20 | -1 | -100 ] s
6 panyiie] x 3C = -110 [ri] 3NT = -600 10
7 E=] [ri] 3NTX -3 800 [ri] 3C = -110 14
8 TS [ri] 5H +1 -480 [ri] 4H +2 -480
9 ,?ﬁ [ri] 3D +2 -150 x 3D +3 -170 1
10 | \WHB [ri] 3NT +4 -720 x 3NT +3 -690 1
DATUMSit T
KIELIPA RWLKE Y. 2] 43 21
DBRLE/ERER 17 FiE /BT -11 ait 43 | 21
REELE 11 R/ PRI 17 V.P. 16.39 | 3.61
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13 BRiI2PA VS 11 EFKBA
H= A=

BT2I0 SHA SN BT2I0

1 BE e o gy =

o B 75 - 41157 - 7 -
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 2S +1 140 1t 2S = 110 1
2 it [ri] 3NT +2 -460 [ri] 3NT +1 -430 1
3 panyiie] x 5C -2 200 x 4C -1 100 3
4 WE=] 1t 4H +1 650 x 2S = -110 13
5 it 1t 2D +1 110 1t 3D = 110
6 panyiie] x 3NT = -600 [ri] 3NT +1 -630 1
7 E=] [ri] 2NT -2 200 x 2S +1 -140 8
8 TS [ri] 4H +2 -480 [ri] 4H +3 -510 1
9 ,?ﬁ x 2NT -1 100 x 3D +3 -170 4
10 | \WHB x 3NT +3 -690 [ri] 3NT +3 -690

DATUMSit T
BRI 2PA EFKBA Y. %+ 34 1

BER/SME 23 S /BE -14 ait 34 1
EBIE/fRSRIT 14 = VIES -23 V.P. 183 | 1.7
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it ® . it : R
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